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1. REVEE
REES 173,222 473,719 A 300,497
EIAE 11,532 13,000 A 1,468
REVEESET (A 184,754 486,719 A 301,965
2. BEEE
(EARBE
EHRER 57,000,000 57,000,000 0
HARBESET B 57,000,000 57,000,000 0
OFDOhOBETEE
LR E 6,364,785 6,364,785 0
EHES 30,000,000 30,000,000 0
FDIOBEEEESET (C) 36,364,785 36,364,785 0
BEEEESE D)=B)+(C) 93,364,785 93,364,785 0
BEA E)=AHD) 93,549,539 93,851,504 A 301,965
I R{EDIR
1. REB{E
xiLE 149,956 210,288 A 60,332
REBBEE P 149,956 210,288 A 60,332
2. EEHIE
BETEAEssT @) 0 0 0
BESE H=FHaG) 149,956 210,288 A 60,332
I IERREAE O]
1. IR IERKEL
BEIEBRBESE 1)=3) 57,000,000 57,000,000 0
OHEKMEADITLEE) (57,000,000)|  (57,000,000) (0)
OLREEE~DFTYHED) (0) (0) (0)
2. —RIERBRBAZE (J)=(E)-(H)-(D) 36,399,583 36,641,216 A 241633
EERBTESET K=D+) 93,399,583 93,641,216 A 241,633
BERUVIEKRBES L)=H)+HK) 93,549,539 93,851,504 A 301,965
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1. REVEE
H&iEd 1,895,004 1,405,552 489,452
FRILA £ 120,819 59,016 61,803
REEESH W 2,015,823 1,464,568 551,255
2 BEEE
(N TOEFEERE
TOMEEREESE (B) 0 0 0
BEIE&EESE (C=(B) 0 0 0
BEESH D)=(A)+(C) 2,015,823 1,464,568 551,255
I &EOR
1. REVE(E
FiE 4,582,809 4,233,778 349,031
FIGHERS 535,600 977,500 A 441,900
FHEANRE 188,600 319,800 A 131,200
Y& 286,514 162,551 123,963
REBAESE € 5,593,523 5,693,629 A 100,106
aEa% F=E 5,593,523 5,693,629 A 100,106
Il ECRBIEDER
1. 5 EIEkBE
BEEREESRT Q) 0 0 0
GHLEKRHEADTELEE) (0) (0 (0)
OEREEE~DIT UL (0) () (0
2. —RRIEBRBAE (H)=(D)-(F)—(G) A 3577,700] A 4,229,061 651,361
EREESET O=(G)I+H) A 3577,700] A 4,229,061 651,361
BERVEKRMESE (=(F)+O 2,015,823 1,464,568 551,255
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1. RBEE
HE&AEE 173,222 1,895,004 2,068,226
FIRA £ 11,532 120,819 132,351
RBEE|ST A 184,754 2,015,823 2,200,577
2. BIEHEE
(EKBIE
EHESR 57,000,000 0 57,000,000
EAMESE B) 57,000,000 0 57,000,000
DFDMDOETEERE
EHRafESe 6,364,785 0 6,364,785
ERTES 30,000,000 0 30,000,000
TOMOEEEEESF (C) 36,364,785 0 36,364,785
BIEEESET (D)=(B)+(C) 93,364,785 0 03,364,785
BESE E)=AHD) 93,549,539 2,015,823 95,565,362
I BECH
1. REEE
k& 149,956 4,582,809 4,732,765
FILHEMSE 0 535,600 535,600
FiEAFE 0 188,600 188,600
AY® 0 286,514 286,514
RBAEST P 149,956 5,593,523 5,743,479
2. BEAE
BEaESs ©) 0 0 0
AEEF H=F+Q) 149,956 5,593 523 5,743,479
Il IERBRELEE DER
1. {ERIEMELE
BREKRMESE O 57,000,000 0 57,000,000
ObERBE~ADTHE) (57,000,000) (| (57,000,000
OBIFEBEADIHEE) {0) (0) (0)
2. —RRIEBRBAREE (J)=(E)~(H)~(D 36,399,583 A 3,577,700 32,821,883
EERBESE K=0+) 93,399,583| A 3,577,700 89,821,883
BERUERMESH O=H*K) 93,549,539 2,015,823 95,565,362




